

11/13

Section 6.5 Laws of Logarithms

Definition $\rightarrow \log_b x = y \quad (=) \quad x = b^y$

2. $\log_a a = 0, \log_a a^a = 1$

3. $a^{\log_a m} = m$

4. $\log_a mn = \log_a m + \log_a n$

5. $\log_a \frac{m}{n} = \log_a m - \log_a n$

6. $\log_a x^r = r \cdot \log_a x$

7. $e^{x \ln a} = a^x$

$e^{\log_e a^x}$

8. $\log_a m$

(change of base)

$$\log_a b = \frac{\log_c b}{\log_c a}$$

$$\ln x = \log_e x$$
$$\log x = \log_{10} x$$

⑭ $\log_2 2^{-13} = -13 \cdot \log_2 2 = -13(1) = -13$

⑮ $\ln e^{\sqrt{2}} = \log_e e^{\sqrt{2}} = \sqrt{2} \cdot \log_e e = \sqrt{2}(1) = \sqrt{2} \quad (\ln e = 1)$

⑰ $e^{\ln 8} = e^{\log_e 8} = 8$

⑳ $\log_6^9 + \log_6^4 = \log_6 (9)(4) = \log_6 (36) = 2$

㉑ $\log_8^{16} - \log_8^2 = \log_8 \left(\frac{16}{2}\right) = \log_8^8 = 1$

㉒ $\log_3^8 \cdot \log_8^9 = \frac{\log 8}{\log 3} \cdot \frac{\log 9}{\log 8} = \frac{\log 3^2}{\log 3} = \frac{2 \cdot \log 3}{\log 3} = 2$

$$(26) \quad 5^{\log_5 6 + \log_5 7} = 5^{\log_5 42} = 42$$

$$(28) \quad e^{\log_e 9} = \sqrt{9} = 3 \quad (\text{ex.}) \rightarrow e^{\log_e 7} = 7^2$$
$$(\text{ex.}) \rightarrow 2^{\log_2 7} = 2^{\log_2 7} = \sqrt{7}$$

Expanding & Contracting

* Write as a sum or difference of logs.

$$\log_2 \frac{x^2 y^3}{z^5 k^5} = \log_2 x^2 + \log_2 y^3 - \log_2 z^5 - \log_2 k^5$$

$\sqrt[n]{x^m} = x^{m/n}$ $\sqrt{x} = x^{1/2}$
--

$$= 2 \log_2 x + 3 \log_2 y - \log_2 z^5 - 5 \log_2 k$$

$$\log_6 \frac{\sqrt{x+1} \cdot (x-3)^5}{\sqrt[3]{x-2} \cdot (x+5)^{4/3}} = \log_6 \sqrt{x+1} + \log_6 (x-3)^5 - \log_6 \sqrt[3]{x-2} - \log_6 (x+5)^{4/3}$$

$$= \frac{1}{2} \log_6 (x+1) + 5 \cdot \log_6 (x-3) - \frac{1}{3} \log_6 (x-2) - \frac{4}{3} \log_6 (x+5)$$

* Write as a single log

$$2 \log_5 (x-3) - 5 \log_5 (x+2) - \frac{1}{2} \log_5 (x+3) + \frac{2}{3} \log_5 (x-8)$$

$$= \log_5 (x-3)^2 - \log_5 (x+2)^5 - \log_5 (x+3)^{1/2} + \log_5 (x-8)^{2/3}$$

$$= \log_5 \frac{(x-3)^2 (x-8)^{2/3}}{(x+2)^5 (x+3)^{1/2}}$$